X7 1"7 'own 2,70 o°noo .7"'02

— 9%k R KDY 5919 191557 KDY TwBR R
When it is not possible and he has no intent no one argues

Overview

The X n3 cites a DY between X271 **aR concerning 2"¥2 QTRY 7RI 7RI
According to the first opinion, X2 »2X are arguing in a case of X7 'MwoX
™>%; however in a case of 1M2° X9 2woR X7 ‘everyone’ agrees that it is
ann. According to the »aK7 82K the npYonn between X2 »aX is in a case of
127 RPY WOR RY; however by 11237 K71 woR KXY ‘everyone’ agrees that it is
amn. Our mdoIn will first explain who the ‘everyone’ is referring to. msoin
will also explain that in all cases there is no 7w 05. In addition NN
will clarify what is the meaning of TWwoK X5.

— N9 »ANN NP NIYY »2197 ¥I9Y 3N NP Nawbh
According to the first view in the X713, the proper explanation of the term

Rnby 912 would be referring to 8371 »2R; that they do not argue (but not that
there is total agreement [even] between @' °") concerning 1127 K21 TWOR R? -

— PIYRY 5399 13957 39T 21999 R
And the expression ‘they do not argue, and agree that it is permitted’, this
means that X271 »2X agree that it is permitted according to @' (only) -

— DN AT 23T

For >'"9 would prohibit in a case of 1> &1 wox X7, Therefore it is necessary to
explain w7 %5 XY X9y *913 to mean that 827 2R both agree that 113 X1 WwoR K is
permitted according to w"A.

mooin will now explain how we know that >"1 is q0W by 12 X9 2woR X7 (at least

according to X27):
— 119910 NV AWAN NDA 1YY 229 NN’ 2297 RNNYD ¥ Na9 XNT

For X219 establishes the dispute between @''91 5'"'9 (concerning M12°2 7°X) in
a situation of 311297 XY "WHR 8® (where *" maintains that it is oK) —

mooIn continues to explain how we know that 821 establishes the np17rn between w1 >
by 1127 R?1 TWOR KY:

! qwax means that it is possible to take an alternate action which would not lead to a possible MOX.

2 qwox X7 seemingly means that there is no alternative but to take this action which can lead to an Mo°X. See
however later in this Moo,

3 See *"10 who comments that the word 7871 (which indicates that there is no irrefutable proof) is referring
to what nooIn says later concerning the X7 X3°R; however according to the p"% it (is not merely a nx3,
for it) cannot be any other way, w"»¥. See footnote # 5 & 6.
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— 490NT PYNY 229 NTINT MNP IVWONIT
For by (112°1 R91) "weR, there X211 maintains that @'"9 admits to "9 that it

is MON. Therefore the nP>mn between W' 2" cannot be by 1> ®91 WwaK; it must
therefore be by 1127 X1 wok X2 (according to X27), and " maintains that it is Mox. This
forces us to conclude that when the X723 states w7 *3°95 X7 ¥"2 112°1 K71 WwoR X7 the ¥'">
refers to X271 2K according to w"".

In summation:

The X723 states that the npYonn between X271 »2X is in a case of 1712’1 X9 oK, and X2
maintains that it is 70X even according to "3 who (generally) maintains that 12 X? is
amn, for X271 maintains that it is only by 112" &1 qwsK K that w") maintains that it is
M (not by M3 X7 woR). We must therefore conclude that the npyonn between "
(who maintains that 112°» X7 is MOX) and w"1 (who maintains 112 PR is IM») is [only] in
a case of 112°n K9 WwoR XY (for by 1M2°n X9 WwoR even " agrees [according to X27] that
it is MMoX). When the X7n3 states that by 113°1 XY 2wsR R everyone agrees that it is I,
this ‘everyone’ cannot be referring to °"9, for he maintains that [even] 1157 X921 WwoR XY is
7oX (that is his [only] argument with w"9 [according to X27]). We must conclude that
‘everyone’ is referring to X271 2K according to w"9; that P12°1 K21 IWwoR RY is nn.

maoIN continues to explain 'v">' according to the 7"X:
— YU N1YY 19195 1919919 NDY TWAN NY 9INRT NIINRD
And according to the ‘others who say’, then the phrase that X9 wsR X'
1297 is permitted according to everyone’ -
— YRV 229 SN 29 93950 NNPYY 9915 INN
The term ‘everyone’ here refers to both w'=9313'"9. According to the »MX7 X>R

the NP1 between " °" is (only) by 1127 &9 wok [even according to X27]; however
by 1127 R wdR K7 all agree (even) °"1 that it is .

mooIn continues that this differentiation of *»%5 X% ¥"> between the first view (where ¥"2
refers to X271 *"aX [only] and not to w"" *"7) and the 7"X (where ¥"> refers to w"" "1 [as
well]), will remove a certain difficulty.
— PYNI PYUHN NIVNY N1) RIN VPN 997 ND 99INRT NIINAYT 929V NN
And it will now be properly understood why certain cases are repeated in
the »7KX7 X2°X and others are not, for the 39287 X>°X mentions again only
those cases where the 1287 X2°X differs from the first view -
— 90N RNTY 9219 1999931 YWON Y9INRT NIINTA VP KD 190D

4 X217 states clearly in the X723 that X7 TW5RT X277 DaR WK K97 X377 KR W' Rp 82 O"V'; indicating clearly
that there is no npY2nn between W' > by P12 K91 WOK.

5> There is no proof that > maintains 12 X?1 TWoR X? is My, except for the following oW nXY. See
footnote # 3 & 6.
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And therefore in the s92X7 X2°KR it is not mentioned what was already

stated in the WX WY that 191292 2WR is ¥''2% 190K, However it does repeat X2
MR Y% M50 R oK, for in this the 7"R differs from the "2 (according to the p"% it is

¥"3 according to w"7 only; however according to the 7"X it is ¥"% literally, including even
,||1)‘6

mooIn will clarify what is meant that by 113°1 X9 98K X2 or by 112" 891 woK (according
to p"9% »aR), then w"1 will maintain that it is Ann:

— PYNY 229 AN NIYIY PIDAAT TNIYII PIDD NN RIT 1IN 2999
And we are discussing a situation where for instance there is no p°op'
"mw,® for by 7w P90 (even) W' admits that 112ms X is MoK (whether it is
TWHR or WOK KY).

mMooIN anticipates some reluctance to accept this:
— PPNV 239 XON MY NYW PIU2 199INT 913911D NI

And we cannot say that @' permits in this case here even if it is P02
oy,

moon explains why it should be 70 here (even) by 7w 05 (when generally 05
W™ is MOR):

— 19297 N9YDON NON X297 1099959 199952 999919 NXONT DIVN
Because here we are discussing a case of dragging utensils, where there

is only an 71397 T®°R (even if a 719xo» is done on account of the 7w pood). It is only
a 11277 7oK1, because -
— (02 maw) 1PPIYTN N1HA2 MINTI 12 YNNI 99N NINY

6 This is the support for the 71871' in the beginning of Ma0In (see footnotes 3 & 5).

7 The entire phrase is M* X7 w1 P°09; meaning can you remove the head and it will not die! It will
certainly die! Similarly if one is doing an action (which is nw) but it will inevitably and certainly cause an
TMO°X, that is considered a 7w 2°09. You cannot disassociate the act of 7n°n with the inevitable MOR 7wyn
that will follow (just as you cannot disassociate the 7w 09 from the ultimate 7n»). Even w") who
maintains that 1502 1K is I0M; however if it is a 7°W PP0D, it is MOK.

8 This would seemingly mean that in the case of 1"y ™1 nXi37 (which >"w7 and other 21WX1 use as an
example of 2"v2 O7RY 827 7RI7) it is not inevitable that he smell the 1"y 11°9; the odor is not always that
strong that it is inevitable that he will smell it (or he can close his nostrils [see footnote # 19]).

9 It seems that according to [the "% 827" of] MO the issue of WD ¥ OTR? 7827 AR is in a case of
0°%5 N (see following footnote # 10); not like (3"771 73"72) *"w1 who interprets it in a case of "'V 177 X377

19 The 01 of (w"9) T13nn X is usually exemplified in the case of MWy 120> Xow 72721 131 UM QTR M3
v°n. One may drag a bed, etc. over an earthen floor (even though it is possible that he may make a furrow
in the ground; which would be considered [712] 9917 NaX7), as long as he has no intention of making a
furrow. According to m»on this may be the case which we are discussing in this X3, (See previous
footnote # 9.) MwoR would mean it is possible to move the bed without dragging it; by carrying it, and X?
woR would mean that there is no other way to move the bed; only by dragging it.

' This is amended to read (2,12) 77> P22,
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He is digging in an indirect manner,? which is 710X only 712771 as the

X723 states in 929977 122 P79, When it will only be an 11277 10°K then (perhaps)
¥" maintains that it is "M even if it is 7w °09, since he is 1M PR

mooIn rejects the approach of the abovementioned " n? X2°%'. We cannot say that we are
discussing a case of w7 P05 [by an 131277 MOK] -
— 16799 9199 1509NRDDY ¥NDr¥MI 1PID RIINNT 27190 NHY SN0 NNYNWA NNT

For in the ensuing discussion, the X ) cites issues which are 910K

17xn%97I87H, such as 289> ,!187%yn» and ;799 105, This proves that we are not
discussing an 71277 M0, but rather Xn»7IR7 *0°K, where " maintains that 7°w>7 P05 is
oK.

Based on the above nN190IN continues:
— 200599 PY0Q M1 RY INNITININ DT 99D 298

So therefore it is necessary to assume that all these issues which the X713

cites are not cases of 1w"1 P30 (for if it were 7w 2°09 all would agree that it is
710K regardless whether it is MWOHX or TWHR R?, 11501 or 11007 K7).

MooIN continues to elaborate on a different issue:
— 219972 N0 NIN 19979 9WAN RIT PNYY 139390 NI RNYNY 27157 TWIN N

And it is the view of the 37 that in the entire discussion when “wsR & is
mentioned it means it is not possible [to avoid the action which may cause

12 If one would intentionally dig a furrow by dragging a bed, it would not be Xn>>™R7» 70X since this is not
the ordinary manner in which one digs a furrow. Digging 7> nx?3 is MR only 13127177.

13 The "w°n% X2%' assumes that since he is not 7150 to make a y>1, even though it is a 7w p°05 that a
y°7n will be made, nevertheless it is w"% M, since even if he intentionally made a v in this manner it
would only be an 131277 MoK, so where it is 7120 X it is totally 2. According to this " % 82°%' the only
instance where "9 maintains that 7°2°7 p°09 of an 1501 PR is MOK is in a case where if he would be 12nn
it would be ®n>7x77 70K,

14 This is referring to the various N1N72 mentioned on X,12 including 1"mns v7 1917 (9271 Hw 1982 2wY), etc.
15 This is referring to the mwn cited on 3,13 concerning M3 *121. The X113 asks there *31 131 MWHRT X7 R’
W 197 X7; this cannot be discussing a case of W %09 for K22 is an RN™IIXT MO°X where "D is MOX.

16 This is referring to the Xnooin cited on X,12 concerning 7pa71% 70°107 (see NMoOIN there 70°107 71"7).

17 Everyone agrees that by Xn»™IXT 110K a w1 P00 is MOX by 1207 X even according to w"A.

18 The proof from 77791 77°y may be that the X713 asks there, P13°1 RPY WOR X927 X377 XM and it is forbidden;
indicating that if it would be 1101 X2 it would be 202, even though 719 91091 79°v1 are Xn>>7187. This proves
that it cannot be a case of w1 P°0d.

19 See manm M.

20 In the case of P, they can avoid looking; in the case of 779, there is a possibility than none of the
grain will be threshed; and by 2°x9> it is possible that this extra garment provides him with no benefit; (see
R"awan MdOIN and 07772K N30 THR MK DNV yap).

2l In the case of "y m7; the term WX X2 means that it is necessary for the person to pass by the 1"v. It is
always possible for him not to take this route (or not to travel altogether). However that would cause undue
hardship, therefore his passing by the 1"v is called "wox R?; it is impossible to do it differently (easily).
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an Mo*X] if it is done in the usual manner; only if great effort is exerted, then
it is possible to avoid the Mo*x.

mooIN proves that TwoR XY is not to be taken literally that it is impossible to avoid the
action that may lead to the M0°X, but rather it is very difficult to avoid the action (but not
impossible):

— 2299AN NY 22UN MIPA PIMIND DIVDIYW XAY
For the case of lowering the craftsmen in containers (which is done in
order to avoid the craftsmen of deriving 7R from the 2Wwpn wip), is
considered as a case "WoR X9, for they must repair the p"7ip. Therefore we can
conclude that whenever the X m3 states TwoR X7 it does not mean that this action which
may cause an MO°X is an absolute necessity with no alternatives, but rather, the action
needs to be taken, otherwise it will cause great hardship.

oI anticipates a difficulty with his assumption that according to the 7"X, then “wsK X7
11091 K91 is ¥""2% 1nn; even v"1Y:
—22nawa NYNNA DIYAY 191 23D (3,7 97 MIND 1PININT XM

And that which the X713 states in m23i1n> noon; concerning the query

whether one is permitted to make the initial 772°¥2 on naw —
— 99510 PRY 127 DIYN NONRT NNHY 2399 NPT

Where the X713 states that according to >''9 it is 910K since it is a PRW 927
1712072 (which is MoK according to *"7). This concludes the citation from n121n3.

mooIn concludes the question:
— 19195 RYY ZWAN NY 11T 2) Yy 9N

Even though it is a case of 191997 K1 "wW5K XY, and (according to the 7"X) if it is
D) R?Y WOR XY, even " agrees that it is Anm. Why does the X3 in m21n3 rule that
according to °"1 it is MOKR?!

mooIN responds:

22 The craftsmen were lowered into the 2"7p (to do repairs) in containers so they would not derive 71X
from the beauty of the p"np (it may constitute wW7pna 77°vn). 821 argues that this proves 1127 XY IWdKR XY is
Tox. For if it would be 70 why is it necessary that they be lowered with m91p?! It is 7wsR 87! They have
no choice but to repair the p"ap. This proves, says n1don, that even though it is not a case of pure ITWdHR X2,
for we can prevent them from looking by lowering them into m»3p, nevertheless since this option is a 77w
9173, it is considered as TWOR KY.

23 The concern is that by a 77112 n2°v2 a AMan (which is 07 X*%1n) is made. NWw3a Y217 is MOX.

24 He has no intent of making a 7Man (to be a7 X°¥); making this act a 1n» XY 927, which is
(nevertheless) >"7% 710K,

25 The husband needs to be 2 her. Even though it is possible to postpone the nx»a for after naw,
nevertheless that would be considered a 7173 n, which therefore allows it to retain the status of wsR X5.
This is the connection between this question and that which precedes it in this n9oIn.
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—1PP2971 NNAT 11197 2295 NIND NINNT 991D 7298
And it will be necessary to maintain that the X°x9 in m21n> follows the
view of 5797 " in PPY9T72 12 P9, where 7°n7° " rules -
— 195 N9 TWAN XY N1I1P 295 YONT
That 3719557 851 9wbdK KY is 790K according to >''9. And -
— (AMIPNR) Y795 1999N 260590N D2I0P IINT NN AMNONT 2) Iy 9N
Even though "7 was refuted concerning that which he said that small
objects are forbidden to be dragged even according to w''1 -
AN XI NNNY 9399 2709917)2 179N HUNT INNA OIPN VN
Nevertheless concerning that which he forbade to drag even large objects
according to >'', he was not refuted. This proves that 7°»7° ' maintains that
according to °"1 (even) 2’ X7 TR K7 is MOK. It is according to this > that the X3
rules in M21N> that it is N2w2 79102 W25 MoK even though it is 113°1 K9 WK KY.

Summary
According to the P in a case of 121 X7 TwdK K7 then X2 ™2k agree that

w"9 1s 707 (and °" 1s 70 according to X27). According to the 7"X both w9
") agree that 127 X1 woR K2 is 2. In the entire X210 there is no 0D
w1, The term “waR X% means it is very difficult not to do it (but not that it
is impossible not to do it).

Thinking it over

MdOIN maintains that we are not discussing a w1 P05 case, for then it
would be MoX even according to w"7. Perhaps we can differentiate between
the case of w"1 concerning 121 27X 77 to the case of 3"y O7RY 7827 7RI, In
the case of 771 the person who is 77 is doing the 72871 of 12 (albeit &5w
12n1n2). Therefore if it is a 7°w*1 P09 it is MoK (because it is considered as if
he is doing it ™M>nn2). However here in the case of 3"va nXan aXi7 (for
instance 1"V 7)) where the M0°X is happening on its own (the odor comes
from the 1"v; it is nothing that the person is doing [his walking is not causing
the odor, and is not causing him to smell the odor.?® The odor is there
regardless.]), in this case perhaps even a 7°w°1 2208 1s 7N if he 1s 1501 1K,

26 5" maintains that one is not permitted to drag small objects across the ground even according to w""
because there is the option of carrying them, which is not that difficult since they are small objects.

27 Large objects cannot be carried (from place to place) but need to be dragged, nevertheless in the opinion
of 717> ' this is forbidden according to °"1 even though it is TwdR X7 (one must drag them) M3°n X9 (to
make a y°1).

28 By 7™ the question is whether he can be 7713, since the 773 causes the y™n directly. Here the question
is whether he can walk; the walking is not an act of smelling. It merely enables one to smell in the place
where he is walking.
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